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10.

Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions.

What is Profit Maximization?
Qarub WasLI(HSSHIHD GTemTed e ?
What is Trade Credit?

WITLITTS SL_GHT GTGITMTED 6T 6T ?

What is Dividend Decision?

LIBISTSITL (LPIq-6 GTEIDITE) GTEHE?

State the meaning of Capital Structure.

gpger s anwolilen Gummer gamis.

Explain NI approach.
NI eigni@panuleaar eflersd@s.

Define Financial Leverage.
Bl smeSlwrhmed euenruig).
What is Cost of Debt?

&L gren Qeeey craTmTe cremen?

Explain Walter model of dividend.

QUTOLIT LISTHTW enwlilener eflors@s.

Define Working Capital.
BEOL(LPEOD (LS — euen ). .

What is Operating Cycle?

Qewiur’_{ &WHél erenmmed eramen?
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What is Dividend?

UBISTSTIILD GTETDITE) 6TesTen ?

What are the components of Working Capital?

BENL(LPEDD CLOVSTSSI 6T FaMISET UITEnEU ?
SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questions.

Dewey Ltd. has an EBIT of Rs. 4,50,000. The cost of debt is 10%
and the outstanding debt is Rs. 12,00,000. The overall
capitalisation rate (k;) is 15%. Calculate the total value of the

firm and equity capitalisation rate undér NOI approach.

Sour OGO iger  eufl wHMD eUlIGHEG (PETLTE  GU(HLOTELD
g5 4,50,000. sLen oL &sbd 10% whmb Cewiss Ceusmmgs SLe
gp. 12,00,000. Qurgs wsorss elfsnd (R)) 15%. dineuarsHen

- Qurgs wHlmuYD wWHpL s LkGsETa ILsssmsun NOI

i@ parnuile samrddHs.

A company issues Rs. 10,00,000, 13% debentures at a discount of
5%. The debentures are redeemable after 5 years at a premium
of 5%. Calculate before tax and after tax cost of debt, if the tax
rate is 50%. ;

e Howb 13% sLar LsATs@s . 10,00,000-@w 5% el L gHo

Qeuafll(hdlenmal. <G BbsH wawrhsear sWPss 5% pananngde
Blstu@deamg. el effsn 50% eren Qamaw(®, aufléE phasw
WHID AHDSW SL6T (PG L &E5MS SansH([Hs.

Compute the operating, financial and. combined leverages from
the given data :

Sales 50,000 units at Rs. 12 per unit

Variable cost at Rs. 8 per unit e

Fixed cost Rs. 90,000 (including 10% interest on Rs. 2,50,000). : ;
Gemeumd  eleurmisafldimpg Cewerssn, HF wHoL  EmLE
< DDOTSTWIRISEDET SaTéS (Hs : :
eflpuener — 50,000 e @asar 5. 12 gprr S0EDE :

Wrmu(HiD Q&msqa;a;h; @ SAdnE . 8

Bevoowren Qeeasdar — . 9}&9@ (em. 2,50,000-5@ 10% eulig

2 erenL&Ewg)).
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Alpha Ltd., issued 10% redeemable preférence shares of Rs. 100
each, redeemable after 10 years. The floatation costs are 5% of
the nominal value. Compute the effective cost to the-company if
the issue is made at (a) par: (b) a premium of 5% and (c) a
discount of 5%. sl

<gpeur Bmwob 10% By aperayfas uri@sear . 100 eigbd
10 gemhaatler Blugms sfl Qeuafull@ng. QauafliS ( Csweysar
ws wHLbd 5% Geneumeuareupded mHal, Bly  gergyflenn
uriGseter Syw wHiiGmer sarsd (s -

(1) & w9 CaueliGgd.

(=) 5% penanogdled deuaflulBsen

(&) 5% aul gdle QauafudBaed.
The earnings per share of Nadal Ltd. are Rs. 15 and the rate of

capitalization applicable to the company is 12%. The
productivity of earnings (r) is 12%.

Compute the market value of the company’s share if the payout
is (a) 20% (b) 50% (c) 70%. Which is the optimum payout?

e Sl igdnr Ui gemblan eumeumis . 15 whHmih DIGET
aarss eldlgn 12% oigen Bmiss emeussiiu L Qerugder 2 Hugd
fpen 12% erafler, AmogBlenr Lk wHlGman Geraumaaapdibe
SIS, ; ‘ _

(31) uriIsTETWD @&ggg@ aufl 20%

(<) UBSTETLD Qoa)ssd aufl 50%

(@) unisTETLD Qogissd aif 70%.

BeupBler eraneu sLofleney LIKIGTSTIL 2(6T6, GTET HTETS.

Rose Ltd. is engaged in customer retailing. You are required to

_estimate its working capital requirements from the following

data :

Projected annual sales ; Rs. 9,00,000
Percentage of net profit to cost of sales ~ 20% :
Average credit allowed by debtors 1 month
Average credit allowed by creditors 2 months

Average stock ecarrying (in terms of sales 21 months
requirements)
Add 10% to allow for contingencies.
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2

Grrev  Himon  mETGaurt elpumendiey FHUL(HETETE). emeu(mid
Qeuyrsailed mbE HEnL (PN APLSEILD S@ss (Hs :

erdiuné@b @ edlhueen ep. 9,00,000
<68 epuenauiien g Geomud 20%
,5|_GmrrGTﬂé;@é;@ GULPMIGLD. STELD 1 rgbd
SLaBCHTT GULPMHIEHD STeLD : - 2 rghiseT

syref s76@ @almuy (fpumen Bg) 25 Wrgmsd

arirunyg LrHOhIsEESsTS 10% sl (D&

Consider the following information for Strong Ltd. :

EBIT - Rs. 1,120 lakh
Fixed cost Rs. 700 lakh
[ e Rs. 320 lakh

Calculate the percentage of change in EPS if sales increases
by 5%.

aoL i Bmiogdlen Ganaimib efeunriser g,uaul;@msng,] :
aufl LHMID UL 1g&HE WPHEMSW GU(HLOTEILD — (1. 1,120 @evL&id
BHlaneé Ggeayser — ¢p. 700 Qe &b
aiflé@ appasw @orub — . 320 Gersid.
ApLaar 5% fsNsEDb aafld e kG amamid ghuEn 55655
IHDSDS asamré;é]@a;l. .
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

What are the factors influencing working capital?

BADLAPEDD (PEHema LTHEEID smyanfser wremal?

The capital structure of Hindustan Corporation Ltd., consists of
equity share capital of Rs. 10,00,000 (shares of Rs. 100 each) and
Rs. 10,00,000 of 10% debentures. Sales have increased from
1,00,000 units to 1,20,000 units, the selling price is Rs. 10 per
unit and fixed expenses amount to Rs. 2,00,000. The income tax
rate is assumed to be 50%. You are required to calculate the
following : -
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(a) Percentage increase in earnings per share.

(b)  Operating leverage at 1,00,000 units and 1,20,000 units

(¢) Financial leverage at 1,00,000 units and 1,20,000 units.
Comment on the risk position of the firm.

Qbgievgrer aSeulm IBGLL 1n.6m ppagar s el & LB (LPSHe

. 10.00,000 (@m uvkE . 100 asb) wimb 10% s_af @

ugdlpiuser . 10,00,000 2 _erergy). edmuenar 1,00,000 Sl GaailemHa

1,20,000 sio@seams oifsfsdams. olphuemar efaa SOG e

. 10 wpmib flevas Qeeeysar en. 2,00,000. aufl elldlsib 50% erafle,

Gletmeueuateunedm seamrad 5 :

(=) @munig aueumule) gHLGB L Hsfiy.

(@) Qeswerss smefwurpoed 1,00,000 whmib 1,20,000 S0 (G5 (EHES.

(@) H4 5@aﬁ]u_lrrg),r_r>eu 1,00,000 wpmid 1,20,000 sie@sEnés.

jﬁ]@gmggﬂeﬂ ‘@Q @ura;mm efleul.

22. The following is the capital structure of Moris Ltd. :

Source Amount  Market value C/C
Rs. Rs.
14% preference capital 2,00,000 2,30,000 14%
Equity capital 5,00,000 7,60,000 @ 17%
16% debt 3,00,000 2,70,000 8%
Total S 10,00,000 12,50,000

Calculate the weighted average cost of capital, usmg book value
weights and market value weights.

CGumilev Blmiwgdler epagen s1L ey ﬂéisreu@mrrgj :

PLP GBI EIT : QAgrens shens ALY dywib
‘ . .
14% ergyfienio Likigsar 2,00,000 2,30,000 14%
&LD LTI @G &ET ‘ 5,00,000 7,50,000 17%
16% sLaf_ (U usdrb 3,00,000 2,70,000 8%
Cwrgsld 10,00,000 12,50,000

el G &urr&rﬂ.gg,oeugsm SLEEEMNS L5s5s wHIGaid whmid
gheng HUGAYID sarés [Hs.
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-C'alculate the market price of a share of Pollard Ltd. under :
(a) Walter'’s Formula and (b) Gordon model from the following

data :

Earnings per share Re. b
Dividend per share : Rs. 45
Cost of capital 15%
Rate of return on investment 18%
Retention ratio 40%

arOLT LHmh  sTLa  @sdrsosy LwuaL@ss, @b
Aeurisaflelmbg Cureri® HnwsdHar ukigsaflar sbamg wHLMU

sa&d (s

g Lkl aumeuml . 75
@m Uidlen UkiSTSTwLD eh. 49
eLpevSen Sl 15%
(PSS ig6nm L) 6u(mHeuTs 18%

Flmisd) MaussLLHDL aueurs  40%

From the following information, prepare a statement showing
the estimated working capital requirements :

Budgeted sales — Rs. 2,60,000 p.a.

Analysis of cost and profit of each unit :

Rs.
RE.IW materials 3
Labour 4
Overheads e
Profit 1

Selling price per unit 10

It is estimated that

(a)

(b)
(©

Pending use, raw materials are carried in stock for three
weeks and finished goods for two weeks.

Factory processing will take 3 weeks.

Suppliers will give five weeks credit and customers will
require eight weeks credit.

It may be assumed that production and overheads accrue
evenly throughout the year.
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Slesau(mLd eflurrsafladlmpg) beoLapam  wpse)  Csemeuulenan
sETER{NS :

Sl B iul L eflpuene — t5- 2,60,000 yemq s,

SIL&&ID LDﬁ)@Lb @GUITL_JL'D'(@I:! Sdlins) :

.

- epLCLmmeraer 3
Fa 6l 4
GunQgmeasdr 2
1

Qarun

ellpuener eflaney 10

GTETUTTésEésm 1 Lemay -

(1) @mu@un@m-@@uq S eumpriger Hmb Qnéd srsdmuy
Qirent(®) eunyrisEr, 3

() Gsmfiperamauien 3 auryisdr Qewd e peLdumdlmg.
() s efCsmi 5 curpriser sLar LOMID SLeraflser 8 eumphiser
SL_@i.

2 pusS wHmD ConOeweysdr Qb5 war® psed syrsfurs
B Qumdlenng) e T (H&81% Qamers.
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